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Il Semester B.Com. Examination, September/October 2022

(CBCS) (Repeaters)
COMMERCE
Paper - 2.6 : Quantitative Analysis for Business Decisions — |
Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written completely either in English or
in Kannada.
SECTION-A

PN - D
1. Answer any five sub-questions. Each sub-question carries 2 marks. (5%2=10)
83 BINS CORJYTTUR 800 NOT-T, NN WB0R. T, &TVD-T,I 75 2-e508N%0.
a) What is Tabulation ? e
T £TTED QOTTERD ?

b) Expand TRT and FRT.

TRT @33 FRTo®a) 2308 w3c. P
¢) IF CV:25% and variance is 225, find X. S & "

CV : 25% Zonie YRS 225 AmR, BRNY FHODRT X a0, S0RLBOD.
d) Mention two methods of measuring consumer price index.

WHBTDTT TR W& 7ot 08 BRTTNED CIRTH) ?

e) How range is calculated ?
©oBTBT) Tert SEROTT 7

f) What do you mean by current year ?
9 TRE DOTTERO 7

g) IfQ, is 40, Q4 is 90 what is its co-efficient of Quartile deviaition ?
Qq =40, Q3= 90 &TT T WBROFFT NIOSCD AD MOEaTEss), BORLBOWD.

SECTION - B
QPN - W

Answer any three questions. Each question carries 6 marks. (3x6=18)
53 39NT CIRTTTR Fowcd BZNR9R «ugdd. T8 B3 6 wosnwd.

2. Calculate Quartile deviation from the following data.
B3 FPNT B&E0TI WBOTFD &)?.afcr:?o:’oc@ouL FOBO&BOD.

X 10 20 30 40 50 60
F 28 36 24 32 40 16

P.T.O.
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3. From the following data compute median.
B3 FINT BESCW0T T, BEI), FOWOERAAWD.

Wages (In Rs.) No. of Workers
B3R (Bn.) TOFTT :30335
More than 10 115
More than 20 103
More than 30 88
More than 40 68
More than 50 43
More than 60 23
More than 70 15
More than 80 3

4. Construct consumer price index using family budget method.
WIBTITT 53, Bewd, 0BT FYNT 038 BoLIDOW LOTRE DT, FOREEOWD.

AL AR

Commodity A B C D E
TN

Quantity (units) 2020 50 100 60 30 40
,339089 (030083 RL) 2020 :
Price 2020 6 2 4 10 8"
23652020 '
Price 2022 10 2 6 12 12
23632022

5. Compute Standard deviation from the following data.
31 BINT BRLSCWOT ROFH, LBTOTORFOT) FoBELRCWO.

X 25 26 £7 28 29

F i1 i 12 8 5
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6. Calculate Arithmetic mean of the students from the following data.
B3 BINT BOBNYOT T, PFNY FTHIO LOFNTDY, FOBRECWD.
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Marks 0-10 10-20 20-30 30 -40
DOTNT
Number of Students 20 15 28 33
SarRAL 'A:‘c::,zi’ls
SECTION -C
QRN = A
Answer any three questions. Each question carries 14 marks. (3x14=42)

B3 FPNT CIRRYTOTTR SR T, 3NN evgoA. T)é T, I 14 wosnsh.
Ed r LY

7. Construct Fisher’s index for the following data and show it satisfies TRT and FRT.
25 TINT SR&ECWOT $TT® STIF ARU, 0FHY, TORIELBOWO. TRT =03 FRT
"""‘“-“----J:@eirﬁe;:% B LRAYROZTOWITTY, ERe0R.

2021 2022
Commodity Price | Quantity | Price Quantity
—% A I B8 | omwe | U A
T A 8 50 20 26
B 2 s 6 10
C 1 20 2 25
D 2 10 5 8
= 1 40 3 30

8. Find out Pearsons co-efficient of skewness from the following data.
B3 FINT T80T T LODT R TRT TOFFRFE 333, LOBEITY, TomLRCID.

Age 0-10

Tedom),

10~-20

20-30

30-40

40 -50

50 -60

60 - 70

70-80

Number of 5
Persons

3,303 Tos3,

15

25 35

45

55

35

25
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9. Two Brand Tyres are tested for their life and the following results were obtained.
QT 1], ,0F° YO NI T0deOTROW B Bs FFFOBOTT FOTOTBIY

-0

RECDHOWD.
Life (Months) | 20-25 | 25-30 | 30-35 35-40 | 40-45
Tyre X 1 22 64 10 3
Tyre Y 3 21 74 1 1

If consistency is the Criterion, which brand of Tyres would you prefer ?
A1 03 SRSTORZTS JeR) 03N gonen SBT3 e8¢0 2

10. Draw less than and more than ogives from the following data and locate the

median.
B8 TYBoT cﬁa@ozﬁﬁ%d DTOTD BB APT0D e:swdg aira§ c?e:aas'c; T3, mqsﬁs
:doa:d@odamq sdi oG TSR

Wages Number of Workers
3RO FOTMTT 7.4‘0956
100 - 200 20
200 — 300 40
300 - 400 60
400 — 500 80
500 - 600 100
600 — 700 120

11. Calculate mean and median from the following data.
3 BN SRHE0T TR =020 abr%ﬁmfs% BOTOLROWD.

Marks =
More than 10 100
More than 20 95
More than 30 82
More than 40 60
More than 50 45
More than 60 36
More than 70 20
More than 80 10




